[ﬁl] SRR | DRk | PETR | A | iiEAER
07.B54E3(EFE25 A > 1-64E4K R VES L E | 15 | &SR FEHL
07.B54E3(FFE25 A > 1-64E4K mﬂ tu%) VES | 1IBE | 16 | BB FRHL
075405 (FFE2S A > 1-6%E4k - = F3R) VES | BE | 25 | BE0k FERHL
075405 (FFE2S A > 1-6%E4k - = F3R) VESR | 28F | 21 | A FRHL
075405 (FFE2S A > 1-6%E4k - = F3R) VESR | 28F | 27 | P FEHL
07.EGHEAR(EPR25 A > 1-65F4R > = FER) VESR | 48F | 19 | pEEE FEHL
075405 (FPE2S A > 1-6%E4k > = F3R) VES | 4BE | 25 | BfEEsE FRHL
073505 (FPE2S A > 1-64E4k - = F3R) VES | SBE | 10 | BEus FRHL
078505 (FPE2S A > 1-65E4k - = F3R) VESR | SBE | 16 | PEmgER FRHL
07505 (FPE2S A > 1-6%E4k - = F3R) VEL | SBE | 23 | BhFE FRHL
07505 (FPE2S A > 1-64E4k > = F3R) VES | 6BF | 21 | B FRHL
075405 (FPE2S A > 1-64E4k - = F3R) VES L 79F | 23 | &Eal SEEL
0735405 (FPE2S A > 1-6%E4k - = F3R) VES | 9pF | 26 | HHHE FRHL
078505 (FPE2S A > 1-6%E4k > = F3R) LR | SHE | 14 | BEH FRHL
078505 (FPE2S A > 1-64E4k - = F3R) LR | 9B | 14 | BEIEY FRHL
075405 (FPE2S A > 1-64E4k - = F3R) VES | 9P | 24 | R FRHL
078505 (FPE2S A > 1-6%E4k - = F3R) LR | 3BE | 12 | HEE FRHL
07. B AR(EPE2S A » 1-66F4k » T = F2F) ES | oBF | 14 | BZEGE FREL
07. B AR(EPE2S A » 1-66F4k » T = F2R) ES | 6BE | 21 | FHEHE FREL
07. B AR(EPE2S A » 1-66F4k » T = F2F) ES | 8BE | 16 | ZEE FRHL
07. B AR(EPE2S A » 1-66F4k » T = F2R) AESRL 4BE | 19 | BREED FREL
07. B AR(EPE2S A » 1-66F4k » T = F2F) O | 1BE | 23 | #RARH] FREL
07. B AR(EPE2S A » 1-66F4k » T = F2F) O | 4B | 10 | MER FREL
07. B AR(EPE2S A » 1-66F4k » T = F2R) O | o6BF | 15 | BEE FREL
07. B AR(EPE2S A » 1-66F4k » T = F2F) O | 8HE | 22 | EMEE FEEL
07. B AR(EPE2S A » 1-66F4k » T = F2F) ES | 6BF | 19 | EIFE HEELL
07.B50 8 FFR25 A @ 1-64F4k » = 3R VEL | SHE | 21 | EHES HEHEN2
07. B AR(EPE2S A » 1-66F4k » T = F2F) VES | 3BF | 12 | ARERE HEHL3
07. B AR(FPE2S A » 1-66F4k » T = F3F) VL | 6BF | 25 | e i
07. B AR(EFE2S A » 1-66F4k » T = F3F) ES | 8BE | 22 | BBREE HFEHLS
07. B AR(FFE2S A » 1-66F4k » T = F3F) VES | 1BF | 18 | (B HEHL6
07. B AR(EFE2S A » 1-66F4k » T = F2F) VES | 8BE | 27 | EEE LT
07. B AR(FFE2S A » 1-66F4k » T = F3F) VES | 2B | 26 | SEAE= fFEHL8
07. B AR(FFE2S A » 1-66F4k » T = F3F) 64k | 35F | 19 i HFEEL9




